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¢lc;clear;
1=0:0.001:10;

numl=18; denl=[1,7,12,18];
yl=step(numl,denl,t); XM &t O (IEHFERIRE

num2=2; den2=[1,2,2];

y2=step(num2,den2,t); XurflFix M{IETELIR
figure(1)

plot(t,yl, L1n05ty1e‘,'-'. color’,'r'); hold on;

plot(t,y2, 'LineStyle’,'--", ‘color’,'b"); grid on;
legend("y_1(t)","y_2(t)");
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y1 (1) 2R R 5 MG BRI ML, y2 (1) FoR ﬁs:‘m‘-&—tﬁmﬂ* (T Efr ER T 15 1oty £

clc;clear;
1=0:8.001:10;
numl=1; denl=[1,1.4,1];
yl=step(numl,denl,t); XELRHONIEERSR
num2=[-1,1]; den2=[1,1.4,1];
y2=step(num2,den2,t); XiEMNT L0) RECN(IETEREEE
figure(1)
plot(t,yl, 'LineStyle’,"'-", "coler','r'); hold on;
plot(t,y2, 'LineStyle’,"--", "color’,'b"); grid on;
legend("y_1{t)","y_2(t)");
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